il
W
St
%
I

1. THE4
THE4 AFN 6 AEFEA GBS 43 H R AN AL A5 S T R
T4 HL SRR AR R T R A H N
2. THEHNE
1) HEI4 IIREVE S ERE FEs T LR
2) £ I & ERKG R T
3) T i 305 H [ H A T4 48 1H
= SFn 84 1H30H
4) TEyE

[E-Amd T ET R




B
T
iy
i
I

(Lt P Ry SRR BT T O3 ol it N

T | S0 6 FEEEARGRL KA X A Ly 153 s 1.5
TEHX4y « Tfd - FER B Az £ & F #m il N BN
JE O R = 28, 647, 768
EHET = 9,108, 491
PSR+ (ICT) = 5,890, 280 | A (ZE1%) BE L (ICT) 24, 200 m3
PETE L (ICT) = 3,218,211 |VEIETE (B LEE) (ICT) 6, 030 m2
LEREEOEL
EE T Y 1, 579, 860
WA T = 1,579,860 |F&E{1An 6, 030 m2
AEBHE L 1000m2LA F ;
HEKHEY) T Y 15, 196, 640
(== Y 1, 046, 392
R T =Y 11,175,800 |7 V¥4 UTUAHIH 340 m
157" VA MAlTE
=20 = 1,611,448 |12t 2 AT
1 e REAtE 12 (B
W IR HEKE 200 m
TP-1-2
PEFT FORE 200~400mm
HEk L Y 1, 363,000 | K FHEKE 58 m
HEYE T Y 1,191, 777
EERUE L T = 129, 377 | &l R AR 670 m2
TAT7 MR BEERRE 15emlL T
TE M L T =Y 1,062, 400 | %iEHk 100 m3
TAT7IV NS
RISy 100 m3
TAT7IV NS

E bzl P E IR




(Lt P Ry SRR BT T O3 ol it N

R PERE
TH4 | D6 ARG BRI A R AL A T
THEXSy - THE - FE5 H7 & & # i Gl 2 N

% L =X 1 1,571,000
AZIEE P E20 1 1,571,000 |4338E 3552 B 1 Ey

[P % 2V 1 28, 647, 768

Hm IR E E20 1 4,843, 534

e Tre: X 1 1, 598, 534
Bl s 2V 1 1,244,534 | RSB (ICT) 1 E2y
VATARI 2 (1CT) 1 X

BUGBREIUEL (REH L) 2V 1 354, 000

sty (R L) 2V 1 3, 245, 000

ol T 2V 1 33, 491, 302

TR e gL E20 1 11, 062, 000

T AT 2V 1 58, 121, 399

— i PR E20 1 10, 508, 601

N E20 1 68, 630, 000

-2 - E bzl P E IR




B
T
iy
i
I

NG Rl OnipNe S QVisiig)

T | S0 6 FEEEARGRL KA X A Ly 153 s 1.5
TEHX4y « Tfd - FER B Az £ & #A i il A R
JE O R = 8, 760, 303
EHET = 2,141, 438
RS+ T (ICT) = 1, 746,500 | E&{A (FLE8) BE 1 (TICT) 7, 000 m3
PETE L (ICT) = 394,938 | {EEIFETE (B 56) (ICT) 740 m2
LEREEOEL
EE T Y 222,740
WA T = 222, 740 | FEF-HAR 740 m2
AEsHE L 500m2LL F1000m2Ai ;
HEKHEY) T Y 5, 647, 325
(== Y 597, 325
R T =Y 5,050, 000 |7° L&y AU 500 m
PU1-B300-H300
01-US-01 (PU1-B300-H300) ;
A Y 748, 800
A ERE E T = 748,800 | AZiEFEEE S E 1 =
[ERAE Xy = 8, 760, 303
HiE = 1, 279, 794
BISTI S = 168, 794
HeffrE sy 2 27,794 | {RSFEE(ICT) 1 =
BGRESCESE (5 L) = 141, 000
-3 - Etasmy  PESE R




NG Rl OnipNe S QVisiig)

R PERE
TH4 | D6 ARG BRI A R AL A T
THEXSy - THE - FE5 H7 & & # i Gl 2 N
sty (R L) 2V 1 1,111,000
ol T 2V 1 10, 040, 097
e R E20 1 3, 528, 000
T AT 2V 1 13, 568, 097

-4 - E bzl P E IR




